13. (a) Caleulate the cost of living index numbers
from the following data;

Item Base yesr ;:ric; Current year Weight
Prize Price
Food 89 47 4
Fuel B 12 1
! Clothing 1= 18 3
Rent 12 15 2
Miscellaneous 25 30 1

Sipsonapid  <ayhseErsEe ambdms Groa)

P QL. e srairs,
Cluimemer DU () pLly s erenl
i a6 fflaney
v 2 ara 39 47 4
arifELimmer 8 12 1
SIS 14 18 3
Qi_ang 12 15 2
Bay@eweasdr 256 30 1
Or
(b) What are the uses of index number?
Ll
@O QL awarfler LwenLIT@s6r eranar?
1 2471

19.  Fit a straight line trend by the method of least
‘square to the following data:

Year: 2011 2012 2013 2014 2016 2016

Production ;: 24 25 29 26 22 24

Ean@ésiiu’ Gerer soadsaldlpis Gophs auibs
(pem ppaotb GrrGan’ () CursGsn® snairs.

G\J@I_Lh : 2011 2012 2013 2014 20156 2016
BpuEs: 24 25 29 26 22 24
20. A ball is drawn at random from a box containing

6 red balls, 4 white balls and 5 blue balls.
Determine the probability that it is

(2) Red

(b) White
() Blue
(d) Not red

(e) Red or white.

9 ' 2471



Glar@astul Herar Ggn_rGam @ FLDEY LI MLl Gnear
sanrsfll G o @ops Y =20 samd X -
wdli@uh  x=22 semd  Year whlieniuyib
GERTES (.

x: 1012 13 17 18

¥r 5 6 7 g 43

18. Using the following data construct Fisher's ideal
index and show that it satisfies factor reversal test
and time reversal test.

Commodity Price {in Refunit) No of units

Base yoar -Currentyear Base year Current year
A 16 8 10 12
B 10 10 b 8
6] ] T 8 10
D 16 20 12 15
B 20 25 16 10
Gemauplh  gaeudsmar  LILETLEHS Gegifler
GG aneenr aras e erdueT  sryenf
wnppiéE Gergeen wHm &ra rHHEF GargpanananiL
Ligd Qeliflemms) eranm Fop 9dae b,
* Guingrer sifanas (5. /) Gumgyersafisr
erasranflds ena
g LiLienL JLTMS| R TV T Ll
) S el =60 ()
A 16 8 10 12
B 10 10 5 8
C b i 8 10
D 15 20 12 15
E 20 25 15 10
8 2471

14,

(a) Find the 3 yearly moving averagé from the
following time series data:
Year : 2008 2009 2010 2011
Sales (000) : 30.1 45.4 39.3 41.4
Year : 2012 2013 2014 2015

Sales ('000) : 422  46.4 46.6 49.2

Epsanemih el ifaEsee 3 augmL BE(BLD aymaf
(LPEPmED LI Smeire,
e : 2008 2009 2010 2011
dilpueer (000):  30.1 454 393 414
S56tr () : 2012 2013 2014 2015
aflpuienen (‘000) : 42.2 464 466 4972
Or

(b) Write the steps of calculating the seasonal

indices by the ratio to moving average
method.

pawb  sprefl cflfls  apep  ppesns Ligheu d
GO Ch_emmaner aemon el (R st penmasT
Gi5sl uppis.

(a) A university has to select an examiner from
a list of 50 persons, 20 of them women and
30 men 10 of the them knowing Hindi and 40
not. 15 of them being teachers and the
remaining 35 not. What is the probability of
the university selecting a Hindi knowing
women teacher? i

5 2471
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BACP23B — BUSINESS STATISTICS - II

Time : Three hours : Maximum :I75 marks

cn

SECTION A — (10 « 2 = 20 marks)
Answer ALL questions.
What is scatter diagram?
LITQUGITE:S EUENTLIL LD Grar mimed aTebien?
Give any two examples of correlation,
GLOpeller gCaayib @ram() or(smibsm  Hedr sps.
What do you mean by ragression?
2_Lal @S pavth oif eug) wing)?
Mention any two merits of regression.

Glgmit GuimgSlen G yein (1 meiren nsenaT 6TLps) .

State any two characteristics of index number,
GO B araimanicn Brem( gemmSiukismear sy

2471
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(b)

50 Quuwiser GQaraw  woliuweSlmiba @
LaisanmssEpsn gip Garauraayd Ggflay Qe
Geauar@ib. sieuissfld 20 Guir Guensd wHpiIbL
30 Guir ayeirast Bieuiseafic 10 Cumse afbh
Gaflud 40 Guepdeg  Qsflumg. 15 Gur
apffwiraer B oparar 35 Guir
e Aflursardangal tad. Lansmasspad aflbs)
Qsfibe Auair fflanuenudg CoibEaHiLshsTen
Hapasa) wrg?

Or

Two cards are drawn at random from a well
shuffled park of 52 cards. What is the
probability that

(i)  both are aces

(ii) both are red

(iii) atleast are in an ace?

52 & (pedr Cemar. pemrs senossliuli

SLOsLE el mis G FLGsd swaimiiy
apanpufied erBasiubdlenper. menal

D) @rar@o geons

(i)  GrawrHd Heailiina

(i) @opbss G Towrs GoUusHETE
hlapasa eramen?

6 ; 2471

16.

17.

SECTION C — (3 x 10 = 30 marks)

Answer any THREE questions.

Compute Karl Pearson's coefficient of correlation
from the data of Marks obtained by 10 students in
Accountancy and English,

Marks in Accountancy 77 54 27 52 14

Marks in English 36 H8 60 40 50
Marks in Accountancy 35 90 25 56 60
Marks in English 40 35 56 34 42

Qemaupid Ll ig e 10 wremaiisallen  semddiue
wihmin S hidasdd Aupp widQuearsamers smans.
samsfwey T7 54 27 52 14
oyl 35 58 60 40 60
seaadlwd 35 90 26 56 60
oytidleoth 40 35 56 34 42

aniid  Gwireaflenr @l BHne) Gaupame sl
clem&ED H(ha.

With the help of regression equation for the given
data. Calculate the value of X when Y =20 and
caleulate ¥ when x=22.

Rl e i T R i
AN R R TR T
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How are index numbers classified?

GHAQLaimaer sreucun euens LGS LG & emen,

What do you mean by method of semi-average?

Lrdlé apmaftl apeny eretmmed ereian?

State the components of time series,

amauld it s euflenaufien o drar_dsiimener s s,

What is mathematical expectation?

Senflid Fihs eTETLNTL sTenpired eremen?

State multiplication theorem of probability.
Bapsseden Qumsad Cohpsems mp)s.

(a)

SECTION B — (5 % 5 = 25 marks)
Answer ALL questions,

Find the Karl Pearson's coefficient of
correlation. ;

x 6 271004 B
R N
anfre Switsafler gl Gney Qaqpame. sreirs,
i 8 A g4 g
Alis, SO B

Or
2 2471



@ Guligda wdrer 6 sy, 4 Qeadiemar whpib (b
5 Beolipgealielmba qop Lba sweiminil] apenpullsn

Gyirey QeliwiuGfls sig.
(=) Heuliy

(=2p) Geusianar

@) fod

(7))  Heudiy sidbers

() Ay eideg Qeudtenar ubsts BmuusheTean

Blapssa; eraman?

10

12, (a)

(b)

2471

Find the rank correlation.
x: 21 36 42 37 25
¥y: 47 40 57 42 43
&7 @L@mmm TG
x: 21 36 42 37 2h
¥ 47 40 BT 47 48
Find the regression lines.
P GRS B R |
ares A 4 NE S 10
G| GrréE GHT RHEeneT &ietis.
w8 n 6 8% 14
y: 2 3 4 6 5 10
Or
What are the usea of regression analysis?
QgrrGunssler L drser wreneu?

3 2471



